Figure 3280.402(b)(3) — Test setup tfor root trusses tested tor uplift in the upright position
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Kingpost secured to 1 The truss shall be positioned so that the ends of the cylinder brackets
shear beam strain (i.e., shoes) are the same distance (A) from both ends of the truss as
gauge or similar device shown in Figure 5.2.2.1.
Shear beam strain gauge or Deflections are read using a steel rule, dial indicator,
similar device secured to test or other suitable device, measuring the distance between
machine or floor a point marked on the bottom chord and the test machine

base or other suitable support.



